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Lx*-9x+18=0
o IL 5y*-22y+24=0

()3l x<y

(b) T x>y

(FEx<y

(dafex>y

(e) T2 x 3R y & &g Jay a1 fvar o1 gpar 8
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. 6x2+11x+5=0
2 _
0. II. 2y +5y+3=0
(a)afdx<y

(b) x>y
(T x<y
(d)TEx=y
(e) TS x 3R y & " Tay fRuffed 7Y foran o Twan 8
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Lx?+10x+24=0
03 ILy>-v625=0

(@) AR x <y
b)afd x>y
(©Tdx<y



(dafdx=y

(e) TG x 3R y & offw Taiy fRuffed 7Y foran o T&an ©
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L10x2+11x+1=0
2 _
04 [I.15y“+8y+1=0

(@3 x<y
b) A x>y
(©TEx<y
@A x2y
(e) TE x 3R y & " Taiy FRuffed 7Y fovan o gooar 8
L1Difficulty 2

QTagsQuadratic Inequalities
QCreatorDeepak Rohilla

L15x*-11x+2=0
o5 1L 10y -9y +2=0

(@3 x<y
(b) x>y
(T x<y
(d)TEx=y
(e) TS x 3R y & " Tay fRuffed 7Y foran o Twan 8
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I. 5x—7y= —24
Q6. II. 13x+3y=86

() Tfex>y
(b)AEx=y
() I x <y
(aEx<y
(e)qﬁx=ymxﬁ?y$@awﬁlﬁﬂfﬁﬁﬁmwwg
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L. x2—13x+40 =0
. Il. y°+3y—40=0

(@) A x>y
(b)AEx=y
(o) A x<y
(daEx<y
(e) TG x =y T x 3R y & o1 Yay Fuffed ¥ fovar o Twar 8
L1Difficulty 2

QTagsQuadratic Inequalities
QCreatorDeepak Rohilla

I. 8x2—26x+15 =0
Q8_ll. 2y2—17y+30=0
(a)dfd x>y

(b)Adx=2y

(o) T x <y

(e x<y

() T x = y AT x 3R y & o7 Taiy Feffea 7t foran <1 gpar 8
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I. x2= 484
00 11 y>—45y+506=0

(@) x>y

(b) Tldxzy

(©3fx<y

@afEx<y

(e) A x = y T x 3R y & oia Tay Feffed 7t fovan <1 gpa 8
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[. 13x—21= 200 — 4x

3
Q10."' y=v2197
(@) dfax>y

(b) Tfaxzy

() dfax<y



(d)TEx<y

(e) TG x =y T x 3R y & & Yay Fuffea ¥ fovan o Tovar 8
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[4x2—15x—46=10
Qll.ll' Eljfz -+ 35}’ +46 =10
(@3 x>y
b)afdx>y
(@dfx<y
() AEx<y
(e) M x = y 1 Ty Feffea =Y fovan o Tewar 8
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L2x2 —x—10=0
2 _ _ —_
g1z 1277 —y—=21=0

(@ dEx>y
(b)aEx=y
(©TEx<y
() TEx<y
(e) M x = y 1 Ty Feffva =Y fovan o Towar 8
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Lx*—3x—88=0
Qi3 1y? +8y —48 =0

(@ x>y
(b)aEx=y
(@3 x<y
(d)AEx<y
(e) T x = y 1 Ty feffva =Y fovam o gwar 8
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.2x2—-9%x+9=0

Qs LY =7y +12=0



(@3 x>y
(b)Adxzy
(©TEx<y
(@A x<y
(e) M x = y 1 Taiy FAeffva =Y fovam o goar 8
L1Difficulty 2

QTagsQuadratic Inequalities
QCreatorDeepak Rohilla

L4x2+19x + 22 =0
2 T —
qis Il 2y? + 11y +15 = 0

(@3 x>y
(b)Adx=2y
(©TEx<y
@A x<y
(e) TG x = y a1 ey FReffva =Y fovam o goar 8
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Solutions

S1. Ans.(b)
L.x*-9x+18=0
x*-6x-3x+18=0
%x(x-6)-3(x-6)=0
(xk-3)(x-6)=0
Xx=3,6
IL.5y* - 22y + 24 =0
Sy- - 10y - 12y +24=0
Sy(v-2)-12(y-2)=0
y-2)(5v-12)=0
y=l§
.'.X:b_'_l,-f

Sol.

S2. Ans.(d)



Sol.

L6x*+11x+5=0
6x° + 6xX+5%x+5=0
x(x+1)+5x+1)=0
[x+ 1) (6x+5)=0

5

x=1—-=
6

IL. 2y* + 5y +3 =0
2y + 2y +3y+3=0
2yv(y+1)+3(y+1)=0
(yv+1)(2y+3)=0

3

— —1'——
Y 2

LX =Y

S3. Ans.(e)

Sol.

Lx*+10x+24=0
x2+6x+4x+24=0

X[x+6) +4 [(x+ 6)=0
(x+4)(x+6)=0

x=-4, -6

IL y* -625 = 0

y: =+4/625

y: =25y = 5

~ Relationship between x and v
cannot be determined

S4. Ans.(e)



L10x*+11x+1=0
10x%% + 10x+x+1=0
10x(x+1)+1(x+1)=0
(x +1)(10x+1)=0

1

x= —1,——
10

I. 15y +8y+1=0
15y +5y +3y+1=0
S5y (3y+1)+1(3y+1)=0
(3y+1)(5y+1)=0
=_1_1
Y=o s
~ Relationship between x and y

cannot be determined

Sol.

S5. Ans.(c)
L15x*-11x+2=0
15%° -5x-6x+2=0
S5x(3x-1)-2(3x-1)=0
(3x-1)(5x-2)=0

12
*T 35
IL 10y* -9y +2=0
10y* -5y -4y +2=0
Sv(2y-1)-2(2y-1)=0
(2y - 1) (5v - 2)=0
1z
Y =303
LEEY
Sol.
S6. Ans.(c)

65x — 91y = —312
65x + 15y = 430
Solvingeqn,y=+47,x =5

X =
Sol. Y

S7. Ans.(b)



x2—8x—5x+40=0
x¥(x—8)—5(x—8)=0
x=25,8
y*+8y—5y—40=0
y(v+8)—5(y+8)=0
y=5,-8

x=y
Sol.

S8. Ans.(d)
Bx?—20x—6x+15=10
4x(2x—5)—3(2x—-5) =10

2y?—12y—5y+30=0

2y(y=6) = 5(y—6) =0 y=,6
Xx=y

Sol.

S9. Ans.(d)
x=22,-22
y2—22y—23y+506=0
Yy —22)—23(y—22) =0
y=22,23

X =
Sol. d

S10. Ans.(e)
xr=13
y=13
xX=y

Sol.

S11. Ans.(b)
I 4x*- 15x-46 =0
= 4x°-23x+8x-46=0
= (4x-23) (x+2)=0
23
T
IL 6y° + 35y + 46 =0
= 6y° + 12y + 23y + 46 =0
= (y+2)(6y +23) =0
23

=x = —2,

=y= -2, —E

Sol. x=zy



S12. Ans.(e)

L2x*-x-10=0
= 2x°-5x+4x-10=0
= (2x-5)(x+2)=0
:‘,~x=5,—2

2
IL2y*-y-21=0
= 2y*-Ty+6y-21=0
=(2y-7)(v+3)=0

7
;‘*}r_EJ—S

No relation
Sol.

S13. Ans.(e)
Lx*-3x-88=0
= (x-11)(x+8)=0
=x=11,-8
ILy*+8y-48=0
= (y+12) (v-4)=0
=y=4,-12

No relation
Sol.

S14. Ans.(d)
L2x°-9x+9=0
=2x*-6x-3x+9=0
=(x-3)(2x-3)=0

3
=:~x=3,§
ILy*-7y+12=0
=y’ -3y-4y+12=0
=[y-3)(y-4)=0
=y=34

=X
Sol. y

S15. Ans.(e)



L4x* +19%x+22=0
= 4% +Bx+11x+22=0
= (x+2)(4x+11)=0

>x=-2,-%

IL2y*+ 11y +15=0
= 2y*+ 6y +5y+15=10
=(y+3)(2y+5)=0

5

=Sy=-3—

No relation
Sol.



